

OPERACIONES CON POLINOMIOS

REALIZA LAS SIGUIENTES SUMAS Y RESTAS

$$3x^4 - 6x^3 + 2x^2 - 4x + 5 + (7x^2 - 5x + 2) =$$

$$(16x^2 - 6x + 3) + (4x^4 + 8x^3 - 2x^2 + 3) =$$

$$(3x^4 + 5x^3 - 3x^2 + 25x - 2) - (4x^3 - 2x^2 + 1) =$$

$$(2x^4 - 6x^3 - x^2 + 5x + 4) - (5x^3 + 4x^2 - 3x + 7) =$$

$$(7x^3 - 4x^2 + 8x - 9) - (x^4 + 3x^3 + 2x^2 + x - 10) =$$

$$4x^4 + 8x^3 + 14x^2 - 6x + 6$$

$$-x^4 + 4x^3 - 6x^2 + 7x + 1$$

$$3x^4 - 6x^3 + 9x^2 - 9x + 7$$

$$2x^4 - 11x^3 - 5x^2 + 8x - 3$$

$$3x^4 + x^3 - x^2 + 25x - 3$$